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2. OTABCD = Aol o3 IHIH} Zo] /CAB =
60°, /ABC = 75°, BC =6cm € o, 2CAD, AD &2

A D
60°
75
B C
@ 35° 6cm @ 40°, Tem @45°, 6cm
@ 55°, 6cm ® 55°, Tem

LCAD = 180° — (75° + 60°) = 45° ,
AD = BC = 6cm
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4. & 23t 22 gABCD oAl A 9] o] A
OABCD 7} HgAH o] H=2 st ufj, AB2] Z
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/ACB = e = /ACD = /ADCO| B2
AABC = AACD = AArZ-go|th,
. AB = 4cm
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HYPAHE ABCD oA /BCO = 70°
(EDO = 30° € ¢, /DOC 9] 327|=9

O 80° @ 85° ® 90°
@ 95° 3)100°

/BCO = /DEO (%17})
ADEO 9A] /DOC £ 3t ¢]ztoln =g

(DOC = /DEO + /EDO = 70° 4 30° =

100°




B C

Hearae ABCDO| B A D& ©]oH
AABD €} ACDB ]| 4]

AB=CD Q)

AD=[ _|.-©

BDE 5 ©

@ ©, @ 2JsllAl AABD = ACDB (SSS 35)

A=/, /B=[ ]---©

® CB, «C @ BD, /C ® AB, /D
@ CD, /D ®)CB, /D
AABD &} ACDB 4] AB = CD, AD = BC, BD & Z50|2&

AABD = ACDB (SSS %)
~ tA=/C,/B=/D
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AB =DC, AD = BC 2%l oABCD A
HAS}HCEoloH

AABC ¢} ACDA ©f|A

AB=DC (7}4) ---®

BC=AD ("}4) ---©

[ =E5---©

A, ©, ®°l 2514 AABC = ACDA (SSS &%)
/BAC = /DCA°|E&

AB//DC---®
(ACB = /CADO|E=
AD//BC---@®
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ot A1 ABCD FolA B gl A0

® AB = 5cm , BC = 5¢m , CD = 5¢m
@ <A =100°,/B = 80°, /C =8°
® OA =4cm , OB = 6cm , OC = 6cm , OD = 4em (&, HO

L 5 ojzHiel mA)

@ ABLAD,BC.LCD

(G)AB//DC , AB = 3em , DC = 3em




6cm, BC = 8cm ¥ o, ED 9] Zo|=
@ 1.5cm @)2cm @ 2.5cm
@ 3cm ® 3.5cm

AD //BC °|E& /EBF = /AEB
w2tk AABE+ ©| 54z ol
(EBF = /AEB °|E&

AE = AB = 6(cm)

~ED = AD - AE = 8 - 6 = 2(cm)
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11. o5 2"elA oABCD &= B HAHEF o, aPAD =
28cm?, APBC = 16cm? ¥ o, DABCD 9] Yl o]+= ( Jem? ©]t},
( ) Sell et =& Fakoiet
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W&ol st H poj tjsto] %DABCD = APAB + aPCD =

T

APAD + APBC o]t}
APAD = 28¢cm?, APBC = 16cm? ¢| 22

%DABCD = APAD + APBC = 28 + 16 = 44 °|t},

. 0ABCD = 88(cm?) ©|t}.




12. o2 299 FPAPEY ABCD oA x, y g2 A= F5fof et
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(AEB = /DAE (91Z}) 0|22 ABAE £ o|5H4 7%
AB =BE
y=5,5+x=8,x=3




13. o8 I 72 HyPAPHEY ABCD oA /BAC = 42°, /ADB = 48°
A, zx+ 2y 9] A7]& Fotoi=h

L
o

>
> H=g: 90°

S5 ~
/x = /DAC (37

OABCD ©JA ZA + /D = 180° 0|22

142° + /x + /48° + 1y = 180°

Solx+ Ly =180°—(42°448°) =90°




14. oABCD 7} @4 B 0] =2 §hs A2?

® AB//DC , AD//BC

@ B =90° /=90° /D=90°

® AB//DC, AB =DC = 3cm

(@)0A = 0D, OB=0C (&, 4 0 & & tzHie] maelth,)
® AB=DC=5cm,AD=BC = T7cm
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th2 13 2] HPAMHSE ABCD |4 AD, BC
o] 3H8S 4ZE, F 2 ot thZ-d AC ¢
BE, FD, EFJEW%Z}Z, G, H, I 2} gt}
oABCD 9] Yo7} 52cm? € ©f], ocBFHG 2]

Holg Fotofe.
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B 13cm?

B

AIGE = AIFH (ASA 3&)olB2

H O

oBFHG = ABFE = %DABFE = lenABCD
= ;1 x 52 =13 (cm?)




17. tre 723 2o WaArEE ABCD o)A F

(C 9] o] HA ] AD 9} BA o A3

- A E
3cm, BC = cm%ﬂ,AFgﬂol —]' 3em
]
o2}, B X
~7cm-

> = cm

> ™t 4 cm

BF//CD ©]B& /AFE = /ECD (%7})

AFBC °|A /BFC = /BCF °|2& AFBC = BF = BC ¢!

o] T Aot
watA BF = BC = 7(cm) ©]|B2
AF =BF - AB =7-3=4(cm)




18.

B

AD = 80cm 1 BHPAHHE ABCD oA A P += 3em/s
ZAH AN BAED 2 £Hol T, H Q & Tem/s O $EE F
A- C oA ZAA B =2 &t A P 7l & o|7] A|&stl 4 %

ol H Q 7t 2H ek A P 7k §2914 B 2 Fo 0AQCP 7}
JPAAG 0] E =7}

B Q C
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®6xF @7E$ ®8zx3%
@ 9x% (ORI

AP —QC 7t 2 W7k 4 P 7 8891
3x="T(x—4)
3x=Tx-28, 4x=28 . x=T7(&)




19.

AB = 100cm 1 HYPAFHF ABCD oA A
P = AB 92 25 4om 9 £EE A oM &

15l B&£OoR, {4 Q=% 7em & £ 2
CD E C oA %‘20}04 DZog gZo]1
Ut P 7 EET 2 9 2 o Q 7t EHE
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Q7 &EA 1 = 59

P 7} &A1 At AP =4(9+1)
Q7t2AA A : CQ="1t

AP =CQOollA 4(9+1) =7t O|B& 1 =12
S 1249 =21 (%) Folch.




20. ©FS FH3PAHEY ABCD 2] Yol 140cm? ]2 CP :
AQ : QP =5:2 < 1, 0OCPQ °] HolE Fstolzh

A D
N/
O@ P
B C
=1 cm?

>
> Je: 27cm?

PD=3:2,

X 140 = 42(cm?)

AOCP = %AACP = % x 42 = 21(cm?)
AQ : QP =5:2

AQOP = %AAOP = % x 21 = 6(cm?)
- 00CPQ = 21 + 6 = 27( cm?)




